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1 100kN/m#%#kBZ % — -~ — —|3mEBZE| — ~ — — | 100kN/mM%#8Z 5 — - ~ — — |3mFBZD -~ — — —
ZhLlst 100|000 ~ 475 5921 | FnS | 000 ~ 475|178 9.52 ZhLlst 100|500 ~ 5.00 59.21 | NS | 5.00 ~ 500 1.78 9.562
2 100kN/m#%#kBZ % — -~ — —|3mEBZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
ZhLlst 100|000 ~ 644 81.04 | FnS | 000 ~ 644|176 9.42 ZhLlst 100|500 ~ 760 81.04 | NS | 5.00 ~ 760|176 942
3 100kN/m#%#kBZ % — -~ — —|3mEBZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
ZTh s 1.00 | 0.00 ~ 6.07 76.04 | TN | 000 ~ 607|195 10.45 Zh s 1.00 | 5.00 ~ 760 76.04 | ThUSN | 5.00 ~ 7.60 )| 195 10.45
4 100kN/m#%#kBZ % — -~ — —|3mEBZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
Zh s 1.00 | 0.00 ~ 6.19 77.67 | TN | 000 ~ 6.19] 201 10.74 Zh s 1.00 | 5.00 ~ 820 77.67 | ThSN | 5.00 ~ 820201 10.74
5 100kN/m#%#kBZ % — -~ — —|3mEBZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
Zh s 1.00 | 0.00 ~ 6.22 78.09 | TN | 000 ~ 622|185 9.92 Zh s 1.00 | 5.00 ~ 740 7809 | ThUSN | 5.00 ~ 7.40 | 1.85 9.92
P 100kN/m#%#BZ % — -~ — —|3mEBZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
ZTh s 100|000 ~ 577 72.11 | ThLs | 000 ~ 6577|194 10.38 ZhLlst 100|500 ~ 7.00 7211 | =hs | 500 ~ 7.00 | 1.94 10.38
7 100kN/m#%#BZ % — -~ — —|3mEBZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
ZTh s 1.00 | 0.00 ~ 589 73.67 | TN | 000 ~ 589| 1.84 9.87 Zh s 1.00 | 5.00 ~ 680 73.67 | ThUSN | 5.00 ~ 6.80 | 1.84 9.87
P 100kN/m#%#BZ % — -~ — —|3mEBZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
Zh s 1.00 | 0.00 ~ 6.30 79.18 | =N | 000 ~ 000|170 9.08 Zh s 1.00 | 5.00 ~ 740 79.18 | ThSN | 5.00 ~ 7.40 | 1.70 9.08
9 100kN/m#%#BZ % — -~ — —|3mEEZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
Zh s 1.00 | 0.00 ~ 452 56.39 | TS | 000 ~ 452 1.91 10.23 Zh st 1.00 | 5.00 ~ 5.00 56.39 | TnLS | 5.00 ~ 5.00| 1.91 10.23
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEHBZD ~
ThLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#BZ % ~ ImEHBZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEHBZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEHBZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#kBZ % ~ ImEHBZD ~
ThLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEHBZD ~
Th st ~ Zhs ~ Th st ~ Zhs ~




